<@ Tor AIr

SN

/ ﬁj/n Q%ﬁl PROFESSIONAL & HIGH QUALITY
SHNREOER 0S3R =1
s 2

SR » (AT BT - B BT

REHNBERAIA 1/2 ~ 1315 IFFEEZERZ
ZIPRFEI ST E A o

- BRA S FT INRR RS » W DU f B e s R

HATHZ
1%
i) 5 10S-3R
= O A K ®20+25+32+40+50" 63
ffF B R B8 BIRAEZBMEZER CHBSAEE)
i = b)) 15.3 kgf/cm®
FHRNE 1~ 10.2 kgf/cm®
AR E & B -10 ~ +70 °C ( FE#E)
H & M B tRed
5] i X R
10S-3R SD 50 N 50 - T - E 2
| | | | | | |
EET Y T I Tt )
[ [ [ [ [ [ [
- = 20: ®20| | N: fmaEE | | 4k 4= | WF E:NR50T | |1:11&
o w 25 ®25 \—T‘ TRRE T: 40 5F F : NR505 2:21@8
m - 10S-3R 32 032 U : NS501
(:O 40 : ©40 X 1 NS505
A 50 : ®50
63 : ®63
RELAE ZAEFTEE (mm)
®20 5,10,15,20,25
®25 5,10,15,20,25,30
»32 5,10,15,20,25,30,35,40,45,50
D40 5,10,15,20,25,30,35,40,45,50
®50 5,10,15,20,25,30,35,40,45,50
D63 10,15,20,25,30,35,40,45,50

® 44-01



@ Tor AIr

PROFESSIONAL & HIGH QUALITY

10S-3R ElxUaan

QORTE ©20 @/ F " i g [ Iops
5 5 ¢ 2
g & RN £
=y =
i [ @
IS = 1 EeEReN
- - 2-M5x0.8P
1575 75
14
19.5+ 17#2 29.5+ 1712
n, M o
M4x0.7Px 3 10 5 5 I
g 71T 48
3 = ©
) =1
5 R
f @
ol Eosy
= —| 2-M5x0.8P
15175 75|
5.5+ 1712 29.5+ 1772
QR ©25~ 63 @FMF [ I2ps
Y PL Y PL
HH 35
* 35‘ B
‘ i
b= I
el T VN7
= 2-EE
FiRA,
. B |5 LL+ 1772
E
o . mhY .
2x4- L8R ¢ FG X BT 7c 4-OFB i
‘ /2x4-FC3EBC
\ il V8 N
(775 A
N KK
=y =
] o ET i
=
<
N
7
35 LL + 1772
i%z’:: A B BC BT D E EE FB FC FG HH KK LL M PL | TV Y ZA | ZB | ZC

®25 | 7 16 14 | 55 8 40 |M5x0.8|5.5| M6x1.0 | 9.5 | M8x1.25 | M5x0.8 | 36 10 9 28 | 115 | — - -

®32 | 12 24 14 | 55 | 14 | 45 | PF1/8 | 55| M6x1.0 | 9.5 | M12x1.25 /M8x1.25| 405 | 16 | 105| 34 | 13 | 49 4 25
®40 | 12 24 14 | 55 | 14 53 | PF1/8 | 55| M6x1.0 | 9.5 | M12x1.25 |M8x1.25| 46.5 | 16 | 11.5]| 40 | 17 | 59 6 27
®50 | 15 32 16 | 65 | 18 64 | PF1/8 | 6.6 | M8x1.25| 11 | M16x1.5 [M10x1.5| 485 | 20 | 12 | 50 | 185 | 70 6 29
®63 | 15 32 18 | 86 | 18 77 | PF1/4 | 9 |[M10x1.5| 14 | M16x1.5 [M10x1.5| 46 | 20 | 13 | 60 | 13 | 84 7 35

® 44-02



